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9237
M.A. Examination 

ECONOMICS 
(Macro Economics) 

Paper-IV 
(Semester-II)

Time : Three Hours] [Max. Marks : Regular : 80
Private : 100

The candidates shall limit their answers precisely within the 
answer-book (40 pages) issued to them and no supplementary/ 
continuation sheet will be issued.
TRfensff ■SxRf ft ’’Eft (40 W ft ftfacl
Pt I Hf[ faRT I

Note : Attempt six questions in all. Question No. 1 is compulsory 
and carries 20 marks in all (10x2=20) and each question is 
to be answered in five lines (fifty words). In addition, answer 
one question each from five units. Each question carries 12 
marks for Regular candidates (16 marks each for private 

candidates).
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Compulsory Question

1. Attempt all the short answer questions in about five lines (fifty 

words):

^nft crj 3mf % 3xr ctwt ttfa vfcnf (w?< ?r^f)

if :

(i) How APC and MPC are related?

■QTftTft W Wrt W t?

(ii) Distinguish between MEC and MEI.

W T^T.4.3^. 3HR |
(iii) What is super multiplier?

"^R '5W W t?
(iv) Distinguish between financial and real investment.

faxffa W eliwfa* 3RR I

(v) What is liquidity trap?
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(vi) Mention the assumption of Hicks trade cycle theory, 

ftw wir fftsnr 3ft srfMtnw 3n 

3ftfftRI

(vii) Briefly explain the Tobin’s modified Phillips curve.
ft? ifwCdd fafaW W 3ft ftftq ft WW 3ftfftR I

(viii) What do you mean by rational expectations?
3R3TCIT ft 3nW W 3tfW3 t?

(ix) What is discretion?
13^3) 331

(x) What do you mean by government budget constraint? 
^R351ft W 3J3ft3 ft STTW 33T 3jfMWT I?

UNIT-I

(wi-D

2. State and explain Keynes’ theory of effective demand. What are 

its determinants?
3ft^ 35T "Snuftt ftfrl MdlSH W W3& 3ftf3TR I ^$7

rt*4<3i 3ft3-3ftr ft't?

3. Explain the Relative Income Hypothesis of consumption 

behaviour. How far is it an improvement on the Absolute Income 

Hypothesis?

«t3br 3ft snftfw sift Mfresmi 3?r3ftf^i 3F 

37?f w sth qfl3>em 3n t?
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UNIT-II
(wi-ii)

4. Explain the flexible accelerator theory of investment. Compare 

it with naive accelerator.

RRT W I

5. Explain the Friedman’s formulation of the money demand 

function. Compare his formulation with Keynesian specification. 

ijMh ret w % ^*<01 w i

UNIT-III 
(FEtf-III)

6. Analyse the effects of an increase in the money stock within 
the IS-LM model where both the price level and money wage 
are flexible. Show this effect on the level of real income, the 
price level, the interest rate and the money wage.

RR W wffa
t, Mtar tjst Tdfar 3 fcufrhui

Miwfa* 3JFT RR, -sqR cR W ^R

7. Explain the loanable fund theory of interest determination.

fWfFT ’fafa ftexT
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UNIT-1V 
(wf-iv)

8. Critically explain the Harrod-Domar model of growth. 

trte-^hR afa Tffe^r wit

9. What is Phillips curve? Explain the short-run and long-run Phillips 

curve.

fofam w w t? w fafaRT w
chlfani

UNIT-V 
(wf-v)

10. Explain the Keynesian perspective on monetary and fiscal 

policies.

11. Write a detailed note on rules versus discretion in the monetary 

policy.

^tftr 3 fwr vnn ■'R f^pft fdfiau, i
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